
1.Antenna specifications
176.09*31.01*66.11MM

2.TEYP
Stent+FPC+CABLE

3.MFG：
Huizhou SPEED Wireless Technology Co., Ltd.

4.Antenna（Gain）
CE FCC WiFi WiFi-MIMO

LTE Band1:2.33dBi LTE Band2:3.79dBi 2.4G:0.37 2.4G:1.32
LTE Band3:2.58dBi LTE Band4:4.13dBi 5.15G:0.98 5.15G:2.88
LTE Band5:-1.51dBi LTE Band5:-1.51dBi 5.85G:1.55 5.85G:0.35

LTE Band7:2.72dBi LTE Band7:2.72dBi
LTE Band8:-0.64dBi LTE Band12:1.11dBi
LTE Band20:1.11dBi LTE Band13:1.11dBi
LTE Band28:1.11dBi LTE Band25:3.76dBi
LTE Band38:3.82dBi LTE Band26:-1.51dBi
LTE Band40:3.82dBi LTE Band38:3.82dBi

LTE Band41:3.82dBi

5. 波束方向图
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